W41. Let (x,).=1, (n)n=1 be two sequences of positive real numbers such that
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Marius Dragan.
Solution by Arkady Alt, San Jose, California, USA.
First we will analyze properties of the sequences (x,).>1, (V1)1 given in
the statement of the problem.
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3. Since limx, =0 = hmx,, = 0 then by Stoltz-Cesaro Theorem hm n =0
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for any positive real numbers x;,x2,...,x,, wherek =1,2,....n
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Applying Maclaurin’s inequality
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we obtain . . o} = =125} and, therefore,
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Noting that =%+ < T and S, = y, + a + a, we obtain
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Thus, 0 < P, —1- 5 — Zx,x,—R,,<eTA/42<z
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